T LORD DE L		rtment of Educa utrition Pr	
Applications	Claims	CNP Overview	You are logged in as Anne Taff
Clain	ns		
Clain NSLP		Claim	🖹 Help 🗐 Logoff

changes or click **Cancel** to disregard your changes since the last save. Be sure to enter only *whole numbers* (no decimals/cents).

Thunderbolt Middle School (08-02-01-102)	Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year August Original Claim	
Regular Claim		Paid
Breakfast - Severe Need		
Number of Days Served:	21	
Free Meals Served:	879	
Reduced-Price Meals Served:	122	
Paid Meals Served:	238	
Total Meals Served:	1239	
Participants Approved for Free Meals:	393	
Participants Approved for Reduced-Price Meals:	73	
Participants Approved for Paid Meals:	401	
Participants Enrolled:	796	
Lunch - High Rate		
Number of Days Served:	21	
Free Meals Served:	4463	
Reduced-Price Meals Served:	575	
Paid Meals Served:	2248	
Total Meals Served:	7286	
Participants Approved for Free Meals:	393	
Participants Approved for Reduced-Price Meals:	73	
Participants Approved for Paid Meals:	401	
Participants Enrolled:	796	
Attendance Factor		
Attendance Factor:	90.76 %	

Created by Anne Taffe on 9/8/2023 at 10:07:28 AM Modified by Anne Taffe on 9/8/2023 at 10:08:37 AM Submitted by Anne Taffe on 9/8/2023 at 10:09:06 AM

at 10:07:28 AM at 10:08:37 AM 23 at 10:00:06 AM

Cancel

Arizona Department of Education	NSLP SFSP CACFP ADE Home		
Child Nutrition Prog			
pplications Claims CNP Overview	You are logged in as Anne Taffe		
Claims			
NSLP Site Claim	문 Help ㅋ Logoff		
You are in NSLP Home > NSLP Claims Index >	NSLP Site Claim		
	itities that are unknown or none served, enter zero (0). Click Save to save your changes or click ave. Be sure to enter only <i>whole numbers</i> (no decimals/cents).		
Thunderbolt Middle School (08-02-01-102)	Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year September Original Claim		
Regular Claim	Pending Submission		
Your claim data has been saved successfully.			
Breakfast - Severe Need			
Number of Days Served:	20		
Free Meals Served:	1239		
Reduced-Price Meals Served:	149		
Paid Meals Served:	335		
Total Meals Served:	1723		
Participants Approved for Free Meals:	392		
Participants Approved for Reduced-Price Meals:	63		
Participants Approved for Paid Meals:	375		
Participants Enrolled:	788		
Lunch - High Rate			
Number of Days Served:	20		
Free Meals Served:	4587		
Reduced-Price Meals Served:	711		
Paid Meals Served:	2546		
Total Meals Served:	7844		
Participants Approved for Free Meals:	392		
Participants Approved for Reduced-Price Meals:	63		
Participants Approved for Paid Meals:	375		
Participants Enrolled:	788		
Attendance Factor			
Attendance Factor:	90.76 %		

Created by Anne Taffe on 10/3/2023 at 1:18:17 PM Modified by Anne Taffe on 10/3/2023 at 1:19:23 PM

Save

Delete

Cancel

Page 1 of 1

>



Claims

Site Meal Service Summary

You are in NSLP Home > NSLP Claims Index > Site Meal Service Summary

× ×

Calendar Year:	2023
Month:	October

Thunderbolt Middle School (08-02-01-102)

Sponsored by Lake Havasu Unified District (08-02-01)

Accurate as of 11/2/2023 10:15:57 AM

🔁 Help | 🗐 Logoff

2023 October

riginal			
Meal	Count	Rate	Amount
Breakfast - Severe Need			
Free Meals Served	1,024	2.7300	\$ 2,795.52
Reduced-Price Meals Served	129	2.4300	313.47
Paid Meals Served	250	0.3800	95.00
Add-On for Reduced-Price Meal Subsidy	129	0.3000	38.70
		Total:	\$ 3,242.69
Lunch - High Rate			
Free Meals Served	3,665	4.2700	\$ 15,649.55
Reduced-Price Meals Served	569	3.8700	2,202.03
Paid Meals Served	2,082	0.4200	874.44
Add-On for Menu Certification	6,316	0.0800	505.28
Add-On for Reduced-Price Meal Subsidy	569	0.4000	227.60
		Total:	\$ 19,458.90
		Claim Total:	\$ 22,701.59

Arizona Department of Education Child Nutrition Program		intment of Education	NSLP SFSP CACFP ADE Home
			National School Lunch Program - NSLP
pplications	Claims	CNP Overview	You are logged in as Anne Taffe
Claim	S		
NSLP S	-	Claim	ି ମୁମ୍ମ Help କିଞ୍ଚ Logoff
You are in NSLP	Home >	NSLP Claims Index > NSLP Site	
			are unknown or none served, enter zero (0). Click Save to save your changes or click e to enter only <i>whole numbers</i> (no decimals/cents).
(08-02-01-1		ldle School	Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year November Original Claim
Regular Claim			Pending Submission
		en saved successfully.	
Breakfast - Se		d	
Number of Days			
Free Meals Serv	ed:		1169
Reduced-Price N	leals Serve	ed:	139
Paid Meals Serve	ed:		268
Total Meals Serv			1576
Participants App	roved for	Free Meals:	374
Participants App	proved for	Reduced-Price Meals:	62
Participants App	roved for	Paid Meals:	349
Participants Enro	olled:		781
Lunch - High F	Rate		
Number of Days	Served:		18
Free Meals Serv	ed:		4041
Reduced-Price N	leals Serve	ed:	647
Paid Meals Serve	ed:		2098
Total Meals Serv	ved:		6786
Participants App	roved for	Free Meals:	374
Participants App	roved for	Reduced-Price Meals:	62
Participants App	roved for	Paid Meals:	349
Participants Enro	olled:		781
Attendance Fa	ctor		
Attendance Fact	or:		90.75 %

Created by Anne Taffe on 12/5/2023 at 7:42:01 AM Modified by Anne Taffe on 12/5/2023 at 7:43:46 AM

Save

Delete

Cancel

https://www.ade.az.gov/cnpweb/claims/claim.asp?validate=1&date=11/30/2023&sponsore... 12/5/2023

Arizona Department of Education Child Nutrition Program			NSLP SFSP CACFP ADE Home National School Lunch Program - NSLF		
		utrition Program			
pplications	Claims	CNP Overview	You are logged in as Anne Tai		
Claim	S				
NSLP S	ite (Claim	🖻 Help 🗐 Logof		
You are in NSLF	• Home >	NSLP Claims Index > NSLP Site			
			are unknown or none served, enter zero (0). Click Save to save your changes or click re to enter only <i>whole numbers</i> (no decimals/cents).		
Thunderb (08-02-01-:		Idle School	Sponsored by Lake Havasu Unified District (08-02-01 2024 Program Yea Decembe		
Regular Claim			Original Clair Pending Submission		
Your claim da	ita has be	en saved successfully.			
Breakfast - Se	evere Nee	d			
Number of Day	s Served:		15		
Free Meals Serv	ved:		1161		
Reduced-Price	Meals Serv	ed:	208		
Paid Meals Serv	ved:		323		
Total Meals Ser	ved:		1692		
Participants App	proved for	Free Meals:	372		
Participants App	proved for	Reduced-Price Meals:	66		
Participants App	proved for	Paid Meals:	347		
Participants En	rolled:		774		
Lunch - High	Rate				
Number of Day	s Served:		15		
Free Meals Serv	ved:		3602		
Reduced-Price	Meals Serv	ed:	636		
Paid Meals Serv	ved:		1823		
Total Meals Ser	ved:		6061		
Participants App	proved for	Free Meals:	372		
Participants App	proved for	Reduced-Price Meals:	66		
Participants App	proved for	Paid Meals:	347		
Participants En	rolled:		774		
Attendance F	actor				
Attendance Fac	tor:		90.75 %		

Created by Anne Taffe on 1/3/2024 at 9:02:19 AM Modified by Anne Taffe on 1/3/2024 at 9:03:30 AM

Save

Cancel

Delete

>